Whitman College



Econ 328



Exam 2

October 16, 2007

Write all answers in your bluebook.  Show all of your work.  The exam ends at 11:50.

1. Consider the following game.  

	
	
	
	Player 2
	

	
	
	L
	M
	R

	
	U
	3, 4
	2, 3
	0, 10

	Player 1
	I
	2, 5
	4, 10
	0, 7

	
	D
	7, 3
	1, 2
	1, 2


(a)  (5pts)  Find all of the pure strategy Nash equilibria for this game. 

(b)  (5pts)  List the rationalizable strategy profiles for this game.

2.  Consider the following game.  

	
	
	
	Player 2
	

	
	
	L
	M
	R

	
	U
	8, 3
	3, 5
	6, 3

	Player 1
	I
	3, 3
	5, 5
	4, 8

	
	D
	5, 2
	3, 7
	4, 9


(a)  (5pts)  Find all of the pure strategy Nash equilibria for this game. 

(b)  (5pts)  List the rationalizable strategy profiles for this game.

3.  Finish the following mathematical definitions for two player games.

(a)  (10pts)  A strategy s1 is an element of BR1(µ2)  if and only if  U1(s1, 

(b)  (5pts)  A strategy profile (s1, s2) is a Nash equilibrium if and only if 

4. (5pts)  Is the equilibrium in a prisoner’s dilemma game a bad Nash equilibrium?  Explain your answer, with reference to the definition of a bad Nash equilibrium.

(b) (5pts)  Describe the strategic tension inherent in the prisoner’s dilemma class of games.
5. (2pts each)  For each of the following statements, indicate whether the statement is true or false.  

(a)   A game can have a Nash equilibrium that is not rationalizable.  

(b) A game can have a rationalizable strategy profile that is not a Nash equilibrium.

(c) A game can have a Nash equilibrium that is not Pareto efficient.

(d) A game can have a Pareto efficient strategy profile that is not a Nash equilibrium.

(e) A game can have an iterated dominant strategy equilibrium that is not rationalizable.  

(f) A game can have rationalizable strategy profile that is not an iterated dominant strategy equilibrium.  

(g) A game can have an iterated dominant strategy equilibrium that is not a Nash equilibrium.  

(h) A game can have a Nash equilibrium that is not an iterated dominant strategy equilibrium.

(i) A game can have a dominant strategy equilibrium that is not a Nash equilibrium.

(j) A game can have a Nash equilibrium that is not a dominant strategy equilibrium.

6.  Consider a one-shot location game with two players, Vendor A and Vendor B.  Each player simultaneously and independently chooses a segment of the area below in which to locate his booth.  Once a vendor has chosen a location, he cannot move.

	1
	2
	3

	4
	5
	6

	7
	8
	9


There are two customers in each segment.  Customers buy from the vendor with the nearest booth, and cannot travel diagonally.  Customers who are equally close to both booths split evenly between the two vendors.  Serving customers causes annoyance to the vendors, and does not change a vendor’s wage because they do not work on commission.  Each customer served generates a payoff of -1 for a vendor.  

(a)  (5pts)  What is BRA(1),  i.e. what is the best response set for Vendor A if Vendor B locates in segment 1?  Explain and show your work.

(b)  (5pts)  What is BRA(4)?  Explain and show your work.

(b)  (5pts)  What is BRB(5)?  Explain and show your work.

(c)  (10pts)  Is (5,5) a Nash equilibrium of this game?  Explain and show your work.

(d)  (10pts)  List all of the pure strategy Nash equilibria of this game.
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